Algebra 1

Name___________________________

Polynomials Operations – Practice Quiz


	1. Simplify.  (Add or Subtract)
     (3x2 + 5x – 7) + (x2 – 2x + 9)

	Solution_________________

	2. Simplify.  (Add or Subtract)
     (4x2 – 3x + 2) – (x2 + 6x – 5)

	Solution_________________

	3. Simplify. (Add or Subtract)
     (2x3 + 4x2 – 8) + (5x2 – 2x + 10)

	Solution_________________

	4. Simplify. (Add or Subtract)
     (x4 – 3x2 + 1) – (2x3 – x2 + 4)

	Solution_________________

	5. Simplify.  Use the distributive property.
   3x(2x4 + x3 + 3)

	Solution__________________

	6. Simplify.  Use the distributive property.
   -2x2(3x3 – 2x2 + 4x)

	Solution__________________

	7. Simplify.  Use the distributive property, FOIL or the 

  box method.
   (2x + 3)(x – 4)

	Solution__________________

	8. Simplify.   Use the distributive property, FOIL or the 

   box method.
   (3x – 5)(2x – 1)

	Solution__________________

	9. Simplify.   Use the distributive property, FOIL or the 

   box method.
  (x + 7)(x – 7)


	Solution__________________

	10. Simplify.   Use the distributive property, FOIL or the 

    box method.
  (3x2 + 2x – 4)(2x – 3)


	Solution__________________


What time is it?

[image: image3.png]


[image: image1.png]|18 - 6|



[image: image2.png]



